Q.1

FY BA/BCOM-II-ATKT-SEPT-2022-FOUNDATION COURSE

Time : 02 hrs 30 min Max. Marks. 75

A)
1

2)

3)

4)

5)

6)

7

8)

9)

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Choose the right alternative: (ANY EIGHT) [08]
refers to freedom to business enterprises from excessive government control.

A)  Migration B) Liberalisation

C) Globalisation D) Privatisation
UDHR stands for-

A)  United Declaration of Human Rights B) Universal Declaration of Human Rights

C) Universal Development of Human Rights D)  Universal Development of Human Resources
The comprises of all of the water on or near the earth.

A)  Lithosphere B) Biosphere

C) Hydrosphere D) Atmosphere
The are the small living beings such as bacteria, insects and fungi.

A)  Primary Producer B) Consumers

C) Decomposers D) Terrestrials

helps to develop the power of concentration.
A)  Meditation B) Exercise
C) Time management D)  Social support
needs includes application and search for beauty and love for art and architect form.

A) Esteem B) Cognitive

C) Aesthetic D) Wide range
The UDHR consists of articles.

A) 10 B) 20

C) 30 D) 40

means movement or shift of people from one place to another.
A)  Migration B) Liberalisation
C) Globalisation D) Privatisation
is the deterioration of the environment through depletion of resources.

A)  Ecology B) Ecosystem
C) Environmental Degradation D) Sustainable Development

(P.T.O)
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Human rights have application.
A)  Limited B) Universal
C) Maximum D) Most
State whether the following statements are true or false: (ANY SEVEN)

Levitt introduced the concept of globalization.

IT has made communication simple and less expensive.

Freedom of speech and expression may also include defamation.
John Locke was recognized as the father of modern international law.
Natural environment provides renewable sources of energy.

Sustainable development has three components: environment, society and economy.

Basic human values help to improve standard of living in a society.
Regionalism is the only cause of aggression and violence.
Individual factors are the only causes of stress.

Causes of stress are not the same for every individual.

Explain Globalisation and its Impact.

OR
Define Migration. Explain the effects of Migration.

Define Human Rights. What are the characteristics of Human Rights?

OR
Explain the Universal Declaration of Human Rights.

Explain the causes of Environment Degradation.
OR
What is Sustainable Development? Explain the need for it.

What is Stress? What are the different causes of stress?
OR

Write short notes on ANY THREE of the following:

Liberalisation

Ecosystem

Types of Conflicts

Coping with stress

Freedom of Speech and Expression

D *TOR
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Time : 02 hrs 30 min Max. Marks. 80
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Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Write short notes on ANY FOUR of the following: [20]
Appropriacy in the use of English

Elevator Pitch

Non Verbal Communication

Types of Interviews

Principles of Creative Writing

ICT and the use of English

Read the passage given below and answer the Questions that follow:

On the day the stork chick died, Kalpana-di-my father’s niece-visited us in the evening.
By then the death had been forgotten and yo and jhi were laughing and joking with each
other again. Viewed from afar, Kalpana-di led the sort of life any women would have
envied-she had a good husband, family and plenty of money. Yet, by then, the bliss was
souring, and she would visit us and share her troubles.

Kalpana-di had come to tell us that Suraj, her nineteen-year-old son was
absconding. She needn’t have told us. We already knew about it. In fact, the whole
town did. Suraj and his friends had tried to stage a robbery and had failed. A day prior
to the attempt, Kalpana-di told us, he had asked his father for some money which had
been denied. Hence the robbery.

Kalpana-di’s arrival especially with the news of her absconding son, made us
feel strange. We knew Kalpana-di-and her husband as well-were not really endowed
with the gift of social niceties. So there were very few people she could go to with news
like this. And though it relieved us to see that she had actually made the effort to dress
up, look good, get into her car and come to us to share with us a moment of sadness,
instead of moping alone in some corner of her huge house, her repeatedly claiming that
her son had ‘run away’ failed to fill us with any kind of pity. On the other hand, we
started losing any sympathy that we might have had for her and her family.

‘He’s your son, Kalpana!’ both yo and jhi wanted to tell her. And you tell us that
you didn’t know what he was up to? Didn’t your resourceful husband even try to track
him down? Or is there something you are hiding from us? In this entire world, it seems
there was only one place you found to come and pretend that you are and worried: our
house. Right?

| could feel the smouldering desire inside both yo and jhi to snap at Kalpana-
di, to speak the harshest of words to her, to pounce upon her and tell her that she had
been an irresponsible wife and a useless mother. Yet they somehow restrained
themselves and kept on piling Kalpana-di with those kind words which were-they would
tell each other later-as insincere as Kalpana-di’s story.

Where does Kalpana-di come for a visit? [01]
What impression do you form of Kalpana-di? [02]
What is the narrator’s response to Kalpana-dis arrival? How is this depicted in the [02]
passage?

Why does the narrator say.....'we started losing any sympathy that we might have had [02]
for her and her family?
(P.T.O)
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Do you think yo and jhi respect Kalpana-di? What makes you think so?

Write in your own words what could have transpired between Suraj and his father
before he staged a robbery?

Comment on the social and cultural aspects of the community described in the
passage.

Point out the difference between ‘run away’ and ‘abscond’.

Find the autonyms of the following words from the passage:

a) Succeeded

b) Departure

c) Revealing

d) Sincere

Attempt ANY TWO of the following questions:

The NSS Volunteers of your college want to stage a skit on International “Yoga Day’ to
spread awareness about the relevance of yoga for mental and physical health. Draft a

skit with a minimum of three characters.

Prepare a draft of a mock interview to be conducted for a candidate who is expected to
attend an interview with Hindustan Chemicals Limited for the post of a Sales executive.
[ A panel of four experts is expected to interview the candidate]

Compose a Group Discussion on “Media and Politics”.

Draft a report on ANY ONE of the following:
Activity report on: Annual Day of your college to be submitted for the college magazine.

News Report on the traffic issues in your locality.

Write a brief memoir narrating a remarkable experience you recently had. Remember to
draw upon the five senses to make your writing more vivid.

Draft a speech for introduction of the Chief Guest of the Annual Sports Day at your
college.

3D *TOR
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FYBA-II-ATKT-SEPT-2022-HISTORY-I

Time : 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Q.1 Attempt ANY TWO of the following:

A) Examine the role of Raja Ram Mohan Roy in the socio-religious reform movement. [10]
B) Evaluate the importance of Aligarh movement. [10]
C) Explain the impact of socio-religious reform movements were they successful? [10]

Q.2 Attempt ANY TWO of the following:

A)  Sketch the development of education during the British rule. [10]
B) Write a note on the newspapers of Maharashtra. [10]
C) Examine the development of water and rail transport during the British rule. [10]

Q.3 Attempt ANY TWO of the following:

A) Discuss any two types of revenue settlements introduced by the British. [10]
B) Write a note on the Drain Theory. [10]
C) Explain the commercialization of agriculture during the British rule. [10]

Q.4 Attempt ANY TWO of the following:

A) Evaluate the role of women in the Indian national movement. [10]
B) Narrate the status of women in the Indian society. [10]
C) Discuss the important tribal revolts against the British. [10]

Q5  Write Short Notes: (ANY TWO)

A) Dayanand Saraswati [10]

B) Development of Communication [10]

C) Deindustrialization [10]

D) Peasants Movements in the British India [10]
35D TR
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CROT 99T

JAET: 9) A Ued WIS 3MaeAd 3ME.
3) Iordlwdla sis youl oyur @effaard.

preader’ AT Bdrerdorerdt AR grEdt snaieie wfadier SR e B
fepar

‘oot onfrar saciem wfadaidt Tal ‘brauder & FaIeraT 31 6.

al o b

g+ smaAeieaT afetd pidarar uxrHel .
fBar

Bbradel’ AT bIAHddadlel FHGordar 3siaear bfadar faere bxr.

ydiattat wiorerd @9 four ferar.

3TH0T BlcEcHIHI Bfddd doTeuur

‘AT’ AT Biddd IABUT B
‘geRIATET 3fa’ a1 wfaadt Afered
Hdt T.d. A Tt AifdTacet amrdt Aadt e @

gHT HElldeleITd ARSI UaleFrArdadia STAlfold belcal ARPpidd BRIGHTT dodbid
sfergea forer.

fpar
gel @d el AT aiftds AdATeRT AR sfcged ferar.

Trgert SfEd ad - IIRITdl aIR B

fpar
gedi-ideds AT JarATdt Sifed aadATAuRATS daiR @b,
gl PIUETE IAITT 3B BoA carslel! [AaReear yeAHdt Iar ferar.
AT T JalUATCHS el
9T. JONr arer

TCRl- HIN-HYCT - e URAHHITER A g IMeATicHs cgeaded] Hgream
PRMAIN@AT YeUcllel HIEI BIOTRT HICAG AT FHATT AT FEHIN FHeel O HFRATIr
A oA WoRe dIdeT 3 FgUTdr.
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SARTAT TERAT lepiald adlell, il HFdRyg A ufsda ggameh F& 94,
3MEATcHS YaIeeT YU THhursl TARNAT WOETd dishehold Shidel 378 FgUTdrd.

FERTSSIA aTIR dTeld 3TeledT HeTiiRd el W g9 Ageard! oId. Hice

G WEHATT ‘I’ AT YT 3egTael 37Tg, SATdT Y TM0T 3767 g
drderar sfaer

ATCIHAAT HITATA IRH Fell. ARGHeAN o Fedl qrard fApfae. sara #Agdied
eI RISIer 0T 9 rar S TAR FArell 3R hicked TRoRT Fifelcielr S,

FEI: AT’ WsAISATdd diee 3R, I Aol $3aX HFHEd THATOT
O g AT 3652 3Te. 3eAdh HlddhRisll I FHidae fAarsiear e  Sfearar e
ST STASIIROT TG T0Te.
AT JHR

ARG Fictel 30T dfes Hiler (FAgW cararel & Folel) 31 2 FHIdeT FHR g
T G/ ATCTHT 0T GE AT Fifdlcell SAOIRT 31 ATcllel ek Mgl ST 0T
IR TS (0T I T RIhA Fe R FROTRT 8T YrdleT FHell TR 3. GET Fldd ARG

o

I

all T A WMHT HRIAA TGA 3. FAT ASTBAGEHT HlctedehRiall FATSAT 19

|
(4

Sea@dIT FA Fold AR,
Tt 39

HITATT HET 9 T IHAT. GIATHH AHA, YT (Feaallel g IMedfere =) dal
AL AHST 0T HeFcdlold, A JEaTel Wl TEIS HUTeleh, FgUTSl 3aRaT fhar
&S 30T AGET SR I 31T GaTehs HTETO JIOT RAT 314,

I & TIA Aed: T HfFd 3. ANAG HRTEdTd HFITeATATOr dafaer sfFadhr
& GE{T AT 3MT8. "HGUT hictel fISuN: TFROT UIeHTAH | 3 docel G, HEY JTcATAdeTH|"
3T § HiFadhT HIclel & Toh Tdl THR, TAR, SAHTRALTOT, 0T FATITSIEA 3IH HIE giel.
BT JTET 30T JHN ATETHTAT FaTcHD TSl Hlclalre Hged haT FTel el T’ 3TTer
T Scqa 30T e SUhAT 3107 1eT AT A FoT ¢ Afgel hleieirem TuTel 38,
#rder for weft

qe AT HAT HY ATHA, B, HGI, Thdy & arer @l °a. geol Uy,
deer T Ty 3l a1y arael SATaTd.
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ALTINIT FIdId AT SIVIR dIciel dlddeld TUHT 30Tl o Td ATHeaisr. Id
AR, Tl Tehalldl, HA JhRIA, FAY THSH §&1 Hlded HAd. VA FIfecAHS Hcdel THeY

fobdeT Uas ualerdicHd cllbdball & T dbivfl forfdar 3ma?
Bidard fdset uprR 3maa? «idt A forar.
Picara fbcdt I 3701 AATA? W B
Bidara Ot arer wareftar 3radrd.
BITATEAT DIV ATEcITaT 3MeNMR 3T=-AAT?
foar
R. 3ot fSreeardter anfeardr fadeea: agrsT

I. TS ATAR

1ot fSeEdTd STegR, AIWST AT dTelardTd 'SIgTsT Fdld. 8T agrsT feard FATSTT
HIHUN, TR T H-STP g1 TATST HFIAr. 'Sgrsr A7 fFefiarearer IRy O araer auidt gRuRT
SIBICe, Teellcel INaTedT TAATATON IHeleh gagacidl, YR JEoTT, J&THT |l P &g,
eI IT AT AT’ ATAfdell SITATd. & Afo) THUATETS! AN ATl 3ieh ol
Aard.

Jfeard Sfaet & AT SeHa 38, Fdd B Fd TgY 89 AT SeifesT Siiast.
e IR afeqet wa@ner eerar faw caiear acarer A, atersange Jnfearder
UchaT 3 ATedrdl e Adal. e §d Nfeardr a1 Jeiara @l giard. Siersare
o TIRY UTed gld. WiF, Wesoll, FEr Aeduarer diersara  [Aedrd.

AETSATAT ‘SITGaT 3cHd’ 3G FUIAId. SHIGSl dR FgUlel FIlbaR A feaeh
cdrer dier frerel drfgel 31el TORT B, di alersT AIHGRIE §id Bl Sivlehdel HaTSaRT
Hehle Sdrd ET frder. WX 3ifoehs SegR drelerard A@rst a1 feahoh wehr sufas feaeh
aleTsT AT FeU Fel fGad Afvad s 3med. 3ar. ArErsarar SigsT RAOTHT & g @

SIegR Tt JEUISATA, JbellX d Hldle - GoJAld STANA-UIFAd g ITeTIJdelr
RECHT 3. fowmh aEs giaa. wWq AcafaRed 3d Maeed o SiETs Qdd J HTUROT
AHATRT 3.
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EEATHhs JUUITAT Tioehld & Ahial JAFCITIYHATON GBI 3T, TP g9oy,

Y0l TN HUT, T3 WUl § Fdlel $Us YRUT HI0T §T gled HeArdr Fioceplel. oo Hel

AT O IGSAT SSIER A TSN HYSITAT I Fof, AAdIeT IS STeeAT SAlcirel

g1 TTSCehleT TRUT HATdT 3T, THT TEUT Heliell I A fquarar § Seugrr e 38l o

Wie elierlell STETST 3Tell FEUTS "HITeTell &d Heel. SaTell Had el HIET TS el AT
ST, TR JAGEY AV AT Yool S1gsT HTIUT FHaldd ag AHOIN AT, dJegl 3TqT $aqer
gard g UF, el oM, AIqES g FoR URY Aol g, FAVCIIAR TISCHI FIERT 3T

AgIsAd A AU 9ed: EEder 3ed autdl WOl el 3

caereard, X I HEUAC § WNAER Adidel Sdld. & (FEae) & elehsiIrg
HEETAG d TATAge Sefidelell 3THId. Hredl Ield H@ae SAdUIRT AU T Hr
3TebdTd. NETSATT TIGATT AS FUTS AT THT FgUTS "WRTG T SICaT & [T AT Tehrd
Bl WRFHR ATl STl Yl aSiel aArdided gl 3T Helam g Y& cgrar Heam 37l &
WO 374d. faRIva: & a1 wlor anardier gfafsd (e, §X9) aeiehs 3.

arge dield AT, &% Ui A, efoa Slel 38l R Yool Igel &Y Uedld, &dl ATdiaum

FIGART ATl YR T, el HIVTE HTTeAT WMol W oTETeATIRIeT 92 9Tobeld. bl

el qdTell AN PigeTd Gard AN Alstel Yl d #ATgel HTedrel o HET saiedd HeErerd

. B [Sieeard wIurer dicierITa ‘dieTsT ahRald ¢

. dIgrsdrell hIudl 3cdd F&ordia ¢

n N n
. di™ AT el "gdal oird?

. QAP HFac & PBAURIA ddidel Sidarae

. dIETSIId AoTdld HIS HTATI AioT hlorg?

gdler Iararar wARier ferar.

. Tt
gfasaarear A aromh S 3eare fRueh 3 o vt . Affeafar wEad
SATEY, 3Rl A@HTAT FHAT S HAEAT B, el Fhdl FgUTAT ISel. FAT 3T T FHETGIR
SRIAUATT HTAGTY STOT AWl I U o Heol-Ged Tl §iFeT S, o Fha T2l
A, Al eeur i S wiRca TR B 8. e 1 e e diso
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BI3eT odl Tl TN gl 318, 3120 Toell AT Hgallgeh cgral dleTdl. Fgoerd asvae

ke HIGSATdT HESllgdh FEUIS Hidar 31 FgUTY. 3TN &T0TRT ST THebd qoT HYT
HHAT Ar 39Tckel Clehel. CATHATO ST {G AAAS Al AT I Iehedsl HIRATAUT
AT 30T IR WEgerqol egerd gldaid. Fho-Fhdl FgOTAd o grar | gTa Theiiar 3H1a9T gia.
it Heol Scohe Taam FgoTel TRl §Ie Thell STUMUTA Shalel 3TcaT JehTRIATT lcl. Shdredr
TR SEfd oA HA o fAvda . foren Tasa A ogdl g, wdren faear o=
T 9Tgrdl ofleTd. TRl Hgol 3e3Tad. caHS of Tdcallel AT gl AT, Il shal ETheirl &
AT INATR  id FT:-RUNT Freagar Fard. g & Saard e agum=ar
SAATATD FdedT Folld T A IHTA. Tl & fordm qorersd g, F13eIe, Tholl &

3TTRTRITTT THRUTAT fISATATO &ToTehicrdl feshdl. 3edenleied g1 forem orersd 31mg. Sfdstaarear
AgHT S Ad A yfdsm AT EFHER GfANIET TRAT Hecd FA Q. gfaRge fder TadT
Hf¥dca AHA, FUE HEHA RN TR B Tood Helal A6 3HQ 3r8el adgr
FrCAATANAT AR TRl FgedT T 3Q, § Fefel held UTfgel. FEIHT 3@ IR
Feadl e 3 &Y @A FRuAEST WiRfeader Fhcdear efomeR AgHE raeds Tgdl
YUIR ATEY. FHROT Thell YT Fgd Mg, 372 g 30 3fAafAa Fpcdi=h are gga ufgar @
9 GUY SIS, M shegl ol Gaoiedl INESAA Alfgcdshell 380 il 38l o
Sisi=r gAE 39T glal.

fpar
¥. Iqd aeqfafdder giaem
farer 3 aEqEh AT #a, 3@ 3= aea Fgurdd. SO gfager ot
Y 3 FEr FHAOT HAT AT A Tedeh AT HAGN FgTAIUNIE gIesl 3Harfora

HERR T3 glcT 3. o Aredl el Wiel Jod Fa&Td AT, J 3HTaedeh cegl fohar

NI FATIT SSHINR AT, 3Heteh T T hTel TTfgeledT IegeTdeledl . 3ol

¢W@Id, 3oieh TTerdl, 3feleh a&c] AredT HEAMIT cdlel 3eJ3d Hclolel AT, 3T areiier oo
AIigfceh & Aehcll. GO TTell Y AT PRI ISl T T IeToTaredr o iRIelcet
AT HET ATl Higel EATET oAlETdl. el ATSON, fAS0T, THAlor, e, Heheldl 3R
AT QN1 Jeycllal Heel ol Adel Ffgcdepel fHATOT FIdl. g AafAfddr womar gfas
HE IR, AieicaPIe o Heferd qdl Odolel . 9o i Aol 3nfor fAsor A dars
A, AT IHTHIAT HedTd HTASSI 38, g dedia Arelen AfAST A Srehear qor ot
Jgerderell AFd. A1 Jafel o A 3qd 3rad. 3elear ngerdicer foiase 3egera ot e

9
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AT A9 HET A TSl el I HIET qaTescll. AT eerardy Ssvll daredr s

AT, T Toh o AT ol AhRAr. & ATl 3qd A fffcdr 3. qd Fgorsl gt
AHelell FUTSTT Gofde | 3regerardr Sasoll el dholl #gUTST 3Tenteh AN glget § 3rdfa™
g g

.2 gfas=ar fafdy sgrear

et & AR e 3. AT AFAT FAET FASE HOATHIST FEhd Hifgedatian
Sfaeear sholedr RIETEAT SarEdr ureren aerdte.
2. guUey
o AT B, & ddtft sfadidt camear smR. o weuey AR el e 3 Oder
R AT FAET Y RAT waee glll. AreArAd, AolHredr HEhREr dl aROTH 317¢. FgUL o

AT ST ATORATET STeHd: STHOIRT J[0T 3778, 90T USIaT e dlca @t, Teiearelr godie &

SA: AFdl SeATSRISY TADTell &¥ell, T A geRaddt e T s-yde
3UTHAT dhell dil a&t ot A=ITR g 813 Uchel. ei=saana sdten Ad, IfdHT & eedr

HATUATAT AU SleAd: [Hed. Poem are born not made I7T SISl aaemelt & Foder

Prodiciodt 31e sevea &dt § Sedl dmeTdid, il gsfddr Ad =gl
R. HFHAC

AfF: HidcaoIeT: TEHRIAAT: A AT drad 7 ud=d, Uxagd a1 Iy wddll
yfcrureraeft #evet wdtcadloredt [Afdre dvax 3. & et Rew™ wew wRga @R
a1, fhar g ar d IuwHlT Age. & Awert ufoadt s s, bt & efdaren
Faoreft smomd saeTes ererfl smE, & AgA Fed. gieiRm s FEfor gvr At sy

ARfed Aa 3. ufodAflare deiet srer SuE Ul @idel 3 ST s1e.
wfccaren goreft s xR fGey wuer gfen @, 3™ #ARTe weumEl.

3. gE¥e 0T gHdg

TTAHT AdTdlcANeNTor uaml . ‘uferem eurer Aaadia 39y enRor BIord uEr aRr,

@ aewe 3nfor awdw it ufrdt Bt aRen a@v. wi¥fcas sty afdcaagcdtaed
THEEAT YA 3PR Ak auid &3idd 3radl. &1 guiunag Ardi=r smommt & A«Rie
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9.c

FYBA-II-ATKT-SEPT-2022-MARATHI
et 3. weuele wdten Aaedla weumr gafdumrd & eraft 3. avw fww o g

et adt Ardt=get Aigvt JgAaa ft & erafh

Y. STTery afsd
FlcTacAldhd Aeerefdeufd:. ' FeIwaad eigel 34 erearel Aoroaret IYREYUA
FEUTS 9fasT 1 &1 stermer dfEart yfdel samen g1, 3w SAAMHA FHedaT FEaomRT

& el 31T, ¥ a1 FedsT GAYS I THY eaid ATSUIRT & AT 3TY. FgUTeTd hedsacd
IO TSI AT QleTel INSEN Hgalclal AIET FIOMN &1 AlATheh LAkl 37Te.

gdiciiat wiored v RAwarear Aee forar.

. garmudaHAiRa s

. WEEa - w3 GoM faRR—eT draara bre

. OfoT YeaTeAT 3araATaR

FORCLOMR
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Time : 03 hrs

Q.1

Q.2

Q.3

Q.4

Q.5

A)
B)
C)

A)
B)

C)

A)
B)
C)

A)

B)
C)

A)
B)
C)
D)

FYBA-II-ATKT-SEPT-2022-MICROECONOMICS-II

Note: 1) ALL questions are COMPULSORY.

2) Figures to the right indicate full marks.

3) Draw neat diagrams and give examples wherever necessary.

4) Use of simple calculator is allowed.

Attempt ANY TWO of the following: -
Analyse Cobb-Douglas production function.
Discuss the law of variable proportions.

Explain any three properties of isoquant with suitable diagrams.

Attempt ANY TWO of the following: -
Write a note on Money cost and Real cost.

Given TFC is Rs. 100.Calculate TC, AC, AFC and MC

Max. Marks. 100

Output (Units) 1 2

3

TVC(Rs) 25 40

50

70

100

Derive the long-run smooth envelop curve.

Attempt ANY TWO of the following: -
Explain the Ricardian theory of rent.

Role of collective bargaining under perfect competition.

Discuss Schumpeter’s innovation theory of profit.

Attempt ANY TWO of the following: -

Explain the short -run equilibrium of a competitive firm with excess profit, normal profit and

shut-down point.
Describe the features of monopoly.

Read the paragraph below and answer the following questions: -

In the Mumbai market, there are different brands of toothpaste. Each brand differentiates
itself in a variety of ways. Each producer attempts to acquire a large share of the market.

i. Identify the type of market form being described in the paragraph above.

ii. How are products differentiated?

Write short answers on ANY TWO of the following: -

Producer’s equilibrium
Concepts of AR, TR and MR
Bilateral monopoly and wages
Features of perfect competition

D *TOR
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FYBA-II-ATKT-SEPT-2022-PHILOSOPHY-I

Time : 03 hrs

Q.1

Q.2

Q.3

Q.4

Q.5

A)

3)
B)

9)
C)
)

A)

37)
B)

9)
C)

)

A)

37)
B)
)
C)
)

A)

37)
B)

9)
C)
)

A)

3)
B)
9)
C)

)
D)

g)

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Attempt ANY TWO of the following:

Give a detailed account of Epicurean theory of Hedonistic egoism.

TgREe 3T 3% geifffesd gaissaA™ dueiiear aofe &

Discuss Hobbes theory of Psychological Egoism.

AT HEHRIAT gieol GGk I .

Explain Ayn Rand’s idea of Ethical Egoism.

U & Afds PRI FHedaT TISE al.

Attempt ANY TWO of the following:

Elaborate David Hume’s idea on the origin of Morality.

ATclehc=dT 3cTdiiacael Sfegs TgFT dhodell faegd .

Explain Kant's concept of Categorical Imperatives.

Evaluate the utilitarian principle of ‘Greatest Happiness for greatest Number’.

HaTd AT HEIATET Fald HIST 3eie’ AT IUFFATEIG! deard HedHAd .

Attempt ANY TWO of the following:

Bring out the chief tenets of Augustinian ethics.

HHR 30T

Elaborate on Carol Gilligan’s ethics of Care.

Fer AT Fideiar Afdeday [AEaRE i,

Give a critical appraisal of Sartre’s existentialist ethics.

AT Ifdcadrdr Sfaade T FHediehet .

Attempt ANY TWO of the following:

Justify Retributive theory of Punishment.

RIgtar gfaehurcrAs fAguiara gAY .

Bring out the advantages of Reformative theory of Punishment.

What are the arguments given against Capital Punishment? Explain.

wrfirear freifaeer Sord gidddre feel STdra? Tave o

Attempt ANY TWO short notes.

Difference between Psychological egoism and ethical egoism

ATEATEAT 36hR 30T A 3EPR TeATdel Fleh

Universal law as a Categorical Imperative

e SHRIET Teh Avfiaey 3ifeard #7gue

Dread and Anxiety in Existentialism

Jtfedcaarerdier #fidr 3nfor frar

Deterrent theory of Punishment

5D *TOR
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Time : 03 hrs

Q.1

Q.2

Q.3

Q.4

Q.5

A)
3)
B)
9)
C)
)

A)
30)
B)
9)
C)
)

A)
37)
B)
)
C)
)

A)
30)
B)
9)
C)
)

A)
30)
B)
9)
C)
)

FYBA-II-ATKT-SEPT-2022- POL SCIENCE-I

Note : 1) ALL questions are COMPULSORY.
Hq 99T 3MaTF 3ed.

2) Attempt ANY TWO sub questions from each question.
TS FRATCIe HIOTALT GleT ITYR HISl.

3) Figures to the right indicate full marks.

Sotdiehsler 37eh qoT 0T Eifadr.

Discuss the demand of state autonomy.

ST TATIAAIT Aol =y @

Explain the financial relations between the state and the centre.
What are the causes of conflict between the centre and the states?

e, 3TTOT AoITAYT ST HENTT RO HIVTAT 3TEdT ?

Write a note on Shiv Sena and Akali Dal.
FRIGEAT 31707 31ehTel Gottay &9 forgT.

Explain the role and functions of a political party.
ToTehId TETTET ${fHeRT 37TTOT SR TS .

Write a detail note on the Bhartiya Janata party.

HRATT AT g&TTar giaeay &9 forgr.

Define Communalism. What are the causes and effects of communalism.

STAIATETT SITEAT . STIarerdr SRoT 10T IRUMH HIvTd 3Ted?
Explain the role of caste in Indian politics.

HRAT TSTRROTCATS ST ${fHehT TS T,

Discuss the causes of low participation of women in Indian politics.
HRATT TSTHROTT ATGATAT 3769 TEHRNIAT HROTT IAT 3.

Discuss the origin and effects of naxalism.

TeTeTaTeTal 3cudr 3forT aRuTmH I T=T ST,

Define terrorism. Explain the causes of terrorism in Jammu and Kashmir.

GERIcTaTeTH! ST felgl. STFH-hRANATST GgIdararal shRuT ST ahl.
Explain the causes and effects of criminalization of politics in India.

HRATCHTeT JSTRRUTAT g IR OTTIT SHROT 0T TROTH TISC .

Describe the provisions related to reservation in the constitution of India.
HRATEAT HiALTATTel JRETOMR FefereT cRarer aofer &,

Explain the problem of insurgency in north east India.

AT HARATAS TSERIET FAEAT TISC .

Write a detailed note on the Indian National Congress.

HRART ISR Shiaay dugfierar &9 forgr.

35D *TOR

Page 1 of 1

Max. Marks. 100

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]

[10]



Time: 03 hrs

Q.1

Q.2

Q.3

Q.4

A)

30)
B)

9)
C)
)

A)
3)
B)
)
C)
)

A)
3)
B)
9)
C)

)

A)

FYBA-II-ATKT-SEPT-2022-PSYCHOLOGY-I

Max. Marks: 100

Note: 1) ALL questions are COMPULSORY.
TG T2T AHTIar 38 d.
2) All questions have internal options.
TG G 3T 91T AR,
3) Draw neat diagrams wherever necessary.
1T Y Foeh 3MTehcdT Far.

Answer ANY TWO out of the following three:
Describe how concepts and prototypes influence our thinking.

HehoUsdl JTOT 3G FHAT Iiam 39T faaRiay o aRumA faere .

Explain any three theories of intelligence.

Identify different elements and structure of language.

A= FHelced 30T T==T ATST.

Answer ANY TWO out of the following three:

Define motivation and explain any three approaches to understanding motivation.

Explain the physical factors that influence hunger.
ehal IROUTH FON ARINF Teeh TISC .

Describe the early theories of emotions.

HIg=ITe Foardra [Fend faere .

Answer ANY TWO out of the following three:
Describe the structure of mind and divisions of personality given by Freud.

WSS feelell HAART AT 30T eafadacara [T faere .
Write contribution of Allport and Cattel in trait theories.

Identify the advantages and disadvantages using interviews, behavioural assessments,

and personality inteventories to measure personality.

AfFAHATS HIYeT FIUATATST HA, dclellcHeh Hodichel U safecisca areoar gar

Answer ANY TWO out of the following three:
i) Calculate mean, median and mode of the following scores:
92,91,93,94,96,97,98,92,99,89,90

i)@ﬁf%ﬁwmmmﬂmawmz

R,%%2,%3,%¥,R¢€,R19,%¢,R3,%%,¢R R0
ii) Define mean, median and mode.

i) TH ATCHAT T TG ATTAT SATEAT .

Page 1 of 2
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Q.5

B)

C)

FYBA-II-ATKT-SEPT-2022-PSYCHOLOGY-I

i) Make frequency distribution of the following scores:
30,31,35,36,38,37
32,33,34,39,38,36
34,35,36,31,32,38
37,36,32,33,34,35
39,31,33,34,38,32
i)ETell feelear Tl aRaTRdr IROT TR
30,32,39,38,3¢,30
3R,33,3¥,3%,3¢,3¢8
3%,39,36,3¢2,33,3¢
31,38,3R,33,3%,34
3%,3¢,33,3¥,3¢,3R

i) Explain why statistics are important to psychologists of the scores.

i) ATATATETATITS EIATATET Hgedld Hl 3¢ o FI9M.

Calculate the range standard deviation and Z score of
76,70,71,72,78,79,80,82,75,76,74,73,77.

Tl IE&IT YA [A9da T be §aT & ‘2 HAldeh Slal
E,190,19¢,193,18¢, 18R ,£0,¢R, 88, bE, Y, 93,1,

Write short notes ANY TWO:
Problems with problem solving.

HAETT [AGRUAT degoredl THET.

The behaviour of emotions: facial expression.

TGS Toiel: Jg=ITa{leT gITHTT.

Bandura’s reciprocal determinism and self-efficacy.

S et feelell YAUIehel fSexeleligra g dcth Uithfaae Heheda,

Types of graphs that represent patterns in data.

35D TOR
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FYBA-II-ATKT-SEPT-2022-SOCIOLOGY-I

Time : 03 hrs Max. Marks.

Q.1

Q.2

Q.3

Q.4

Q.5

Note: 1) ALL questions are COMPULSORY
2) Figures to the right indicate full marks.

Answer ANY TWO from the following:
A) Write a detailed note on the ‘Relationship between Communication and Culture’.
B) Write a detailed note on ‘Non Verbal Communication and Gender’.
C) Write a detailed note on ‘Virtual Interactions’.

Answer ANY TWO from the following:
A) Write a detailed note on the types of social stratification and discrimination with a special
emphasis on ‘Age’ and ‘Caste’.
B) What is meant by ‘Social Mobility’? What is the difference between vertical and horizontal
mobility?
C) Write a detailed note on ‘Caste and Class’.

Answer ANY TWO from the following:
A) What are ‘functionalist theories’? Write a detailed note on Robert Merton’s Strain Theory.
B) Write a detailed note on ‘Conflict Theories’.
C) What is crime? Write a detailed note on ‘Cyber Crime’.

Answer ANY TWO from the following:
A) What is meant by ‘Collective Behavior'? Write a detailed note with special emphasis on
‘Riots’ and ‘Mass Hysteria’.
B) What is meant by ‘Value Added Theory?’
C) Write a detailed note on ‘Types of Social Movements'.

Answer ANY TWO from the following:
A) Erving Goffman’s ‘Dramaturgy’
B) ‘Comparative mobility studies’ and ‘downward mobility’
C) Emile Durkheim’s ‘Anomie’
D) Ethnomethodology

D *TOR
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FYBCOM-II-ATKT-SEPT-2022-ACCOUNTING & FINANCIAL MANAGEMENT

Time : 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Q.1 A) Selectthe most appropriate option from the gives & rewrite the sentence:(ANY TEN) [10]
1) Goods sent on consignment should be debited by consignor to:
A) Consignment A/c C) Consignees Alc

B) Goods sent on consignment A/lc D)  Consignors Alc

2) Inthe books of consignor the balance of the consignment stock account would be shown:

A) As an asset in the balance sheet C) Onthe debit side of trading account
B) As liability in the balance sheet D) On the debit side of consignment account

3) Account sales is submitted by:

A) Consignor to consignee  C)  Principal to his agent
B) Consignee to consignor D)  Debtor to creditor

4) In Single entry mostly:

A) Personal aspects of transactions are recorded C) Real aspects of transactions
are recorded

B) Nominal aspects of transactions are recorded D) Nominal and Real aspects of
transactions are recorded

5) In single entry system, it is not possible to prepare:

A) Receipts and payments A/c  C)  Purchase Account
B) Trial balance D) Sales Account

6) In single entry two-fold aspect of transaction are not recorded, so it is:

A)  Complete and Scientific C) Incomplete and Scientific
B) Complete and Unscientific D)  Incomplete and Unscientific

7) Branch which does not maintain its own set of books is

A)  Dependent branch C) Foreign branch
B) Independentbranch D) Local branch

8) Under branch accounts debtors system, goods sent to branch account is recorded on
of the Branch Al/c.

A)  Debit side C) Assetside
B) Credit side D) Liabilities side
9) Under stock & debtors system account is prepared by H.O to ascertain the Net
Profit.
A) Branch Adjustment A/c C) Branch expenses Alc
B) Branch stock A/c D) Branch P&L Alc

10) Salvage refers to .
A)  Stock destroyed by fire C) Opening Stock
B) Stock saved from fire D) Insurance claim

11) Fire Insurance provides cover for .
A) Intangible Assets C) Fictitious Assets
B) Tangible Assets D) All Losses

Page 1 of 5



Q.2

FYBCOM-II-ATKT-SEPT-2022-ACCOUNTING & FINANCIAL MANAGEMENT

12)

B)
1)
2)
3)
4)
5)
6)

7)
8)
9)
10)
11)
12)

A)

Stock for the purpose of claim should be

A) at Marginal price C) AtCost
B) At market value D) Reasonable value

Sate whether the following statements are true or False: - (ANY TEN)

Purchase of Machinery should be debited to trading A/c.

Memorandum Trading A/c is always prepared for one year.

Insurance avoids loss due to fire.

Balance in goods sent to Branch A/c is transferred to debit of profit and loss A/c.
Depreciation on branch fixed assets is debited to branch A/c under Debtor System.

Under Stock and Debtor Method, Branch Stock A/c is opened in order to ascertain net profit
or net loss of branch.

Consignee cannot return unsold goods to the consignor.

Balance in Consignment A/c show profit / loss on consignment.

Consignee will earn commission in consignment.

Under Single entry system, it is not possible to ascertain the net profit earned by business.
Single entry system follows the basic accounting principles of accrual.

Under Single entry system, entries are passed for all the transactions during a day.

Mr. Hussain does not maintain proper books of Accounts. He produced following

information:

Particulars

Amt.

Receipts:

Loan from bank

10,000

Cash sales

12,000

Debtors

30,000

Capital introduced

15,000

Payments:

Cash purchases

9,000

Drawings

18,000

Salaries

9,000

Expenses

6,000

Creditors

12,500

Additional Data:-

Particulars

1-4-2017

31-3-2018

Bank Balance (O/D)

1,000

?

Debtors

800

6,800

Creditors

3,000

3,600

Stock

6,000

8,400

Plant & Machinery

20,000

20,000

Furniture

800

2,800

Land

10,000

10,000

Depreciate Plant @ 20% and furniture @210%.
Additional Furniture was purchased on 1-1-2018 on credit.

Prepare final Accounts.

OR

Page 2 of 5
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Q.3

FYBCOM-II-ATKT-SEPT-2022-ACCOUNTING & FINANCIAL MANAGEMENT

B)

A)

Aarya Ltd has a branch at Pune. Goods are invoiced to the branch at 20% profit on invoice
price. Branch has been instructed to send cash daily to the head office. All expenses of the
branch are paid by head office except petty expenses, which are met by the branch
manager. From the following particulars prepare Branch A/c And Branch Debtor A/c in the
books of Head office. The transactions for the year ended 31 March 2019 were as under: -

Particulars RS. Rs.
Stock on 1%t April 2018 (invoice Price) 42,000
Sundry Debtors on 1%t April 2018 18,000
Petty Cash in hand on 1% April 2018 800
Furniture on 1%t April 2018 4,000
Goods invoiced to branch (invoice Price) 1,60,000
Goods returned to Head office (invoice Price) 2,400
Goods Returned by debtors 1,000
Cash received from Debtors 62,000
Cash Sales 1,00,000
Credit Sales 64,000
Discount Allowed to Debtors 1,200
Expenses paid by Head Office :

Rent 2,400

Salary 4,800

Stationary 8,000 15,200
Petty expenses paid by Branch Manager 600

on 31t March 2019 Furniture was Rs 3600 and stock at invoice price Rs. 30,000

M/s Shiv Ltd. Mumbai consigned to M/s Vishnu Bros. Pune, 10,000 boxes Costing Rs. 150
per box. M/s Shiv Ltd. paid Rs. 7,500 for railway freight, Rs. 4,500 for Insurance, and Rs.
3,000 for Sundry Expenses.
On Receipt of consignment, M/s Vishnu Bros. accepted a bill for Rs. 4,50,000, which was
discounted by consignor at the bank for Rs. 4,48,500, and discount was charged to
consignment a/c.
M/s Vishnu Bros. sent an account sales which show as:
1) Cash sales of 8,000 boxes @ 180 each.
2) Expenses paid by M/s Vishnu Bros. were: Godown rent 4,500 and Selling expenses
Rs. 10,500
3) MI/s Vishnu Bros. remitted the balance due by Bank Draft after deducting their
Expenses and commission at 5% on gross sales and del- credere commission @
2%.
Show consignment A/c and Consignee A/c in the books of consignor.
OR
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FYBCOM-II-ATKT-SEPT-2022-ACCOUNTING & FINANCIAL MANAGEMENT

B) The premises of Ali Ltd. Is lost by fire on 305 April 2019, his premises and stock were [20]
destroyed by fire. He closed his books every year on 31 March. From the following
particulars calculate claim to be made by Trader:-

Particulars 2016-17 Up to 30-4-2019
Opening stock 3,00,000 4,00,000
Purchase 8,00,000 60,000
Sales 12,00,000 1,20,000
Wages 2,00,000 20,000
Closing stock 4,00,000 ?

Ali Ltd. have taken Fire insurance policy of Rs. 3,50,000 and there is an average clause in
the policy. The salvaged goods amounted to Rs. 10,000
Find out the amount of claim to be submitted to the insurance company.

Q.4 A) Govind Trading Co. Mumbai, invoices goods to its Kanpur Branch at cost which sell on [20]
credit as well as for cash. From the following particulars:
Prepare 1. Branch Stock Alc,
2. Branch Profit & Loss Alc
3. Branch Debtors A/c

Particulars Rs.
Stock at Branch on 1-4-2018 15,120
Debtors on 1-4-2018 26,000
Goods Sent to Branch 71,000
Goods returned by Customers 600
Total sales 93,520
Cash sales 33,500
Goods returned to Head Office 700
Stock at Branch on 31 -3-2019 13,900
Cash paid by customers 49,200
Discount Allowed to Debtors 2,720
Bad Debts 600
Rent, Rates and Taxes 1,800
Salaries and Wages 7,300
OR
B) On 31%t July 2019, a fire occurred and partly damaged the stock goods of Pappu Traders, [20]
stock having a cost of Rs. 6000 being salvaged. The Insurance policy taken on stock for
Rs.30000

The following particulars could be obtained from the books and record saved :-

Particulars Rs.
Balance as per Balance sheet as on 1-4-2019

Stock at cost 30,000
Debtors 7,500
Creditors 4,500
Transaction between 1-4-2019 to 31-7-2019

Cash received from Debtors 60,000
Discount allowed 1,500
Goods returned by Debtors 600
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Q.5

FYBCOM-II-ATKT-SEPT-2022-ACCOUNTING & FINANCIAL MANAGEMENT

A)
1)
2)

o Ol WN P

Cash paid to creditors 1,11,000
Discount from Creditors 1,200
Goods returned to creditors 300
Cash sales 63,600
Goods distributed as free sample 1,500
Debtors on 31-7-2019 17,400
Creditors on 31-7-2019 9,000

All Sales are made at a profit of 20% on the Sales.

Draw up a statement of claim for loss of stock.

Explain the difference between Single Entry System and Double Entry System.

What is consignment? Explain Features of Consignment.

OR

Write short notes on: - (ANY FOUR)

Memorandum Debtors A/c
Del- creder commission
Goods sent to Branch
Stock Debtor Method
Average clause
Memorandum Trading A/c

35D TOR
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FYBCOM-II-ATKT-SEPT-2022-BUS.COMMUNICATION

Time : 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Q1 A)  Explain the following terms in Two-Three sentences: (ANY FIVE) [10]
1) Interview
I)  Crisis Management

)  Report

IV) Meeting

V) Agenda

VI)  Video conferencing
VII)  Bulletin

VIII)  Group Discussion

B) Match the following: [05]

A) | Screening of applications Cuttings of articles

B) | Resolution Grant all claims made by customers

C) | Valedictory function Enables short — listing of eligible candidate

D) | Press clippings Formal expression of opinion by a group at a

meeting
E) | The consumer is king Concluding event at a conference
policy

Q.2 Write short notes on the following: (ANY FOUR) [20]

)} Appraisal Interview

II)  Advantages of meetings

ll)  Preparations of the interviews
IV)  Principles of group Dynamics
V)  Types of meetings
Vl)  WASP

Q.3 Answer the following questions: (ANY TWO) [20]
A)  What is a committee? Write a detailed note on the different types of committees.
B) What do you understand by conferences? What are the modern methods of conducting
a conference?
C) What is public relations? What method does the public relations department employee
in order to create good internal public relations?

Q4 Draft the following letters: (ANY FOUR) [20]
1) Tropical Fruits Company, fruit exporting agents, placed an order with sunripe products
for 5000 tins of mango pulp to be sent to a customer in Singapore. On receiving the
consignment, they find that some tins are dented and some are punctured. Draft a letter
of complaint on their behalf to the supplier.

I)  Write a letter of inquiry to Benzer Apparels Ltd. enquiring about various women’s
wedding garments that you wish to stock in your shop.
)  Write a sales letter to promote the sale of a new brand of digital camera.
(P.T.O)
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Q.5

Q.6

Q.7

V)

V)

A)

B)

FYBCOM-II-ATKT-SEPT-2022-BUS.COMMUNICATION

You purchased a home theatre system of a popular brand from a reputed store. The
system did not function properly since the time it was installed. You complained to the
store authorities to which they responded by sending a technician who solved the
problem. However, the problem recurred. You requested the store for a replacement
which they refused to entertain. Write a letter to the Consumer Forum requesting them
to help you get the home theatre system replaced.

You have been receiving irregular water supply in your residential area for the past two
months. Draft an RTI query, addressed to the Municipal Corporation asking for reasons
for the irregularity.

A committee has been formed to investigate the possibilities of starting a health
dispensary on the premises of the organization. Draft the committees report.

OR
Draft a solicited business proposal to Yashika Mall in Thane suggesting to them to
include play zones for kids in order to increase footfall and thereby business activity in
the mall.

Draft the Notice and Agenda for the first board meeting of PNR Gold Traders. Also draft
resolutions for the following items:

i) Adoption of common seal

i) Appointment of Bankers

Summarize the following passage and give a suitable title:

Organizations are trying to redefine their role and mission in society. Many
organizations have found their purpose in society as a service to community and the
effort is to provide an improved quality of service, irrespective of whether it is a
manufacturing organization on a service organization. The emphasis is on a better
understanding of people and their behaviour, and caring more for them and their needs.

Research studies emphasise the fact that what customers want is
personalised service. The personal touch is considered a high priority for enhancing
customer satisfaction. Several executives of America’s largest companies have said, in
a survey, that how much an airlines cares about its customers is as important to them as
prompt baggage delivery and efficient check-in.

Several companies have started revamping their hiring and pay practices.
They now try to compensate their employees on the basis of how well they have served
their customers. They inspire their employees with ‘service ethic’ and they believe in the
fact that contended employees make for better served customers. There appears to be
a direct relation between customer retention and employee retention, Satisfied and well
— served customers not only lead to higher profits but also to enhanced employee
retention and lower costs of training since good employees stick around longer.
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Time : 03 hrs

Q.1

A)

A)

B)

C)

D)

E)

F)

G)

FYBCOM-II-ATKT-SEPT-2022-COMMERCE-II

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

Select the most appropriate word from the options given: (ANY TEN)

Services can not be separated from ........

A) Customer B) Shareholders

C) Suppliers D) Service Provider

........... Data refers to first hand information.
A)  Primary B)  Superficial

C) Secondary D) Supreme

............. services require highly skilled employees.
A) Painting B) Dry cleaning

C) Laundry D) IT

Entry and exit of the mall should be .........
A) Same B) Connected

C) Separate D) Adjusted

............... retailing is also known as 'mom & pop' stores.
A) Organized B) Unorganized

C) Deluxe D) Supreme

Therentof .......... Floor is highest in the mall.
A) Ground B) First

C) Second D) Third

Non- store format includes .................
A) Mail order retailing B)  Food court

C) Discount Store D) Ideal Store

Page 1 of 3

Max. Marks. 100

[10]

(P.T.0)



Q.2

H)

J)

K)

B)
A)
B)
C)
D)
E)
F)
G)
H)
)
J)
K)

A)
B)
C)

FYBCOM-II-ATKT-SEPT-2022-COMMERCE-II

Westside is owned by ..........
A) Reliance B) Kirloskar

C) TATA D)  Adani

ERPrefersto ....................

A)  Enterprise Requirement Planning B)  Empower Resource Planning

C) Enterprise Resource Planning D) Empower Requirement Planning
E-commerce permits ............ reach.
A) Local B) National

C) Domestic D) Global

quiker.com is an example of ............... business.

A) B2C B) C2B

C) C2c D) B2B

The existence of E-Commerce everywhere at the same time is known as ................

A) Richness B)  Ubiquity

C) Interactivity D) Customization

State true or false : ANY TEN

Idea screening is required in service development cycle.
Services can be produced in anticipation of demand.
Services are generally tangible.

Chain stores are an example of organized retailing.
Mc Donalds is an example of retail franchising.
Sighage includes logo.

BPO is ahead of KPO.

100% FDI is allowed in banking sector.

ATM cards create inconvenience to consumers.

B2B transactions do not take place in India.

India is the largest internet user in the world.

e- commerce does not permit audience sizing.

Attempt ANY TWO:

Explain the characteristics of Service sector.
Discuss the importance of Service sector.
Explain the various types of service expectation.
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Q.3

Q.4

Q.5

Q.6

A)
B)
C)

A)
B)
C)

A)
B)
C)

A)
B)
C)
D)
E)
F)

FYBCOM-II-ATKT-SEPT-2022-COMMERCE-II

Attempt ANY TWO:

What are the various types of retail store formats in India?
Discuss the major factors that contribute to the growth of organized retailing.

What are the arguments in favor of FDI in retail?

Attempt ANY TWO:

Explain the concept of BPO.

Describe the features of internet banking.
Discuss the elements of logistics network.

Attempt ANY TWO:

Explain the transition to e-commerce in India.
Discuss the functions of e commerce.

Write a note on B2B Concept.

Write short notes on ANY FOUR:
Physical evidence

Store Planning

Enterprise Resource Planning
Credit cards

Features of ATM

Online marketing research

IO *TOR
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Time : 03 hrs
Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.
3) All questions have internal choice.
4) Draw neat diagrams wherever necessary.
5) Use of simple calculator is permitted.
Q.1 A) Selectthe correct option for the MCQs below: (ANY TEN)
1) Perfectly competitive firms face demand curves.
A) Horizontal B) Positively sloped
C) \Vertical D) Downward sloping
2)  The firm can continue in business when:
A) AVC<MR B) AVC=AR
C) AFC>AR D) AVC>AR
3) Economists call a market that has only one producer as
A)  Perfect competition B) Monopoly
C) Monopolistic competition D)  Oligopoly
4)  Pricing decision under monopolistic competition is
A)  Independent B) Interdependent
C) Market determined D) Government controlled
5) Oligopoly is a form of market in which there exits
A) Asinglefirm B) Large firms
C) Fewfirms D) Many firms
6) Paul sweezy’'s model has a demand curve.
A)  Vertical B) Horizontal
C) Diagonal D) Kinked
7)  Mark-up pricing is for a firm trying to enter a market.
A) Notsuitable B)  Suitable
C) Appropriate D) Eligible
8) Under marginal cost pricing
A) P=MC B) P=MR
C) P=AC D) P=AR
9) degree of price discrimination is the mildest form of discrimination.

FYBCOM-II-ATKT-SEPT-2022-BUS.ECONOMICS-II

A) Zero B) First
C) Second D) Third

10) Payback period method of investment appraisal focuses on

A) Rate of profit B) Rate of interest
C) Innovation D) Recovery of investment
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Q.1

Q.2

FYBCOM-II-ATKT-SEPT-2022-BUS.ECONOMICS-II

11) A project is profitable if the IRR is .

A)  Greater than the market rate of interest B)  Less than the market rate of interest

C) Equal to the market rate of interest D) Zero

12) A project is profitable if its NPV is

B)
1)

2)

3)

4)

5)

6)

7)

8)

9)

A) Positive B) Negative
C) Zero D) -1

State whether the following statements are True or False :(ANY TEN)
The necessary condition for profit maximization is that MC is equal to MR.

The equilibrium price of the monopolist is mostly higher than that of the firm in perfect
competition.

The monopoly firm is a price maker.

The demand curve for a firm in monopolistic competition is vertical.
An oligopoly market has only one seller.

Cartels control price and supply of products.

Companies use transfer pricing to avoid taxes.

Full cost pricing provides a guaranteed profit.

Modern firms producing variety of products, can resort to multiple product pricing.

10) Cost plus pricing is also known as full cost or mark-up pricing.

11) Payback period method favours long term project.

12) NPV is based on the principle of discounting.

Attempt A and B OR C and D:

A)

B)

C)

D)

Describe the features of perfect competition.
Explain equilibrium of monopoly firm earning supernormal profit in the short run.
OR

Explain the equilibrium of the firm and industry in the long run under perfect competition.

Read the paragraph below and answer the following questions :-

More than 90% of personal computer users in the world use the windows operating system.

Introduction of new variants of the software prevents entry of new providers. There are no
close substitutes of windows operating system.

(1) Name the market structure described in the above paragraph.

(i) Describe the features of the market identified by you in question (i).
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Q.3

Q.4

Q.5

Q.6

FYBCOM-II-ATKT-SEPT-2022-BUS.ECONOMICS-II

Attempt Aand BORCand D :
A) Discuss the features of monopolistic competition.

B)  Analyse short run equilibrium of a firm in monopolistic competition.
OR
C) Explain price rigidity under oligopoly market.

D) Read the paragraph below and answer the questions.
There are few sellers of flat screen desktops who are dominant firms in the city. The other
sellers make their decisions on the basis of decisions taken by the dominant sellers. They
resort to advertising and compete intensely.
(@ Name the market structure described in the paragraph above.
(i) Describe the features of the market identified by you in question (i).

Attempt Aand BOR Cand D :
A)  Explain full cost pricing method.

B)  Write a note on marginal cost pricing.
OR
C) Describe the conditions under which price discrimination is possible.

D) (i) Write a short note on multiple product pricing.
(i) Assuming mark up of 14%, if AVC = Rs.65 and AFC = Rs.25, calculate the full cost price
of the product.

Attempt Aand BOR Cand D :
A)  What is capital budgeting? Explain its importance.

B) Describe the steps in capital budgeting.
OR

C) Write a note on net present value method.

D) Calculate the payback period for each project and rank the projects from the information

given below :
Project Initial Investment (Rs.) Annual cash flow (Rs.)
A 30000 7500
B 20000 4000
C 15000 7500
D 10000 10000

Attempt Aand BORC:
A)  Explain the short run equilibrium of industry under perfect competition.

B) Debate the role of advertising.
OR

Page 3 of 4

[08]
[07]
[08]

[07]

[08]
[07]
[08]

[03]
[04]

[08]
[07]
[08]

[07]

[10]

[10]

(P.T.O)



C)
1)
2)
3)
4)
5)
6)

FYBCOM-II-ATKT-SEPT-2022-BUS.ECONOMICS-II

Write short notes on ANY FOUR:
Sources of monopoly power
Product differentiation

Distinguish between monopoly and perfect competition

Types or bases of price discrimination.
Transfer pricing
IRR method

IO *TOR
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Time : 03 hrs

Q.1

Q.2

Q.3

Q.4

Q.5

A)

B)

A)
B)
C)

A)
B)
C)

A)
B)
C)

A)
B)
C)

FYBCOM-II-ATKT-SEPT-2022-E.V.S.

Note: 1) ALL questions are COMPULSORY and carry equal marks.
2) Use of map stencils is permitted.
3) Attach the given maps to your answer book.

On the outline map of MUMBAI supplied to you, mark and name the following:

i) A hill Vi) Headquarters of Western Railway
i) A lake vi) A waste disposal site

i) A polluted river viii) A tourist spot

iv)  An air polluted area  ix) An island

v) A stadium X) A dock

On the outline map of KONKAN supplied to you, mark and name the following:

i) Shade the Raigad district i) A pilgrim center

i)  Afort vii)  An industrial region

i)  Arice mill center viii) A flood prone area

iv) A thermal power unit iX) An area subjected to earthquakes
v)  Acreek X) A hot spring

Attempt ANY TWO from the following:

Discuss the various sources of solid waste.

Account for the impact of solid waste disposal.

Examine the role of citizens in waste management of urban areas.

Attempt ANY TWO from the following:

What are the effect of acid rain?

Discuss the causes and effects of Desertification.
Account for the reasons of hunger in the world.

Attempt ANY TWO from the following:

Describe the factors responsible for the development of tourism.
Account for the negative aspects of tourism.

Explain the Significance of Ecotourism.

Attempt ANY TWO from the following:
Briefly describe any one environmental movement in India.

Describe the concepts of ISO 14000 and 16000.
Account for the components of Geo-spatial Technology.

D *TOR
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Time : 03 hrs

Q.1

Q.2

Q.3

Attempt ANY FOUR of the following:
Find derivatives of:

A)

B)

C)

D)

E)

Attempt ANY FOUR of the following:

Calculate simple interest and compound interest on Rs. 10000 for 3 years at 5% rate of
interest per annum.

Find the present value of an immediate annuity of Rs.2000 p.a. for 3 years at the rate of

A)

B)

C)

D)

E)

Attempt ANY FOUR of the following:
Calculate Karl Pearson Coefficient of correlation for the following data:

A)

B)

C)

FYBCOM-II-ATKT-SEPT-2022-MATHS & STATS

Note:

1)
2)
3)
4)

ALL questions are COMPULSORY.
Figures to the right indicate full marks.

Use of simple calculator is allowed.
All questions carry equal marks.

D) y=@3+e*)(7x+3)

Cost function is given by C = x? + 5x + 8. Find average cost and marginal cost when

x =05.

The total revenue function is given by R = 4x3 — 72x? + 420x + 5000. Find x for

which the revenue is maximum.

The demand functionis D =

p+3

of demand when the price is 5.

i) Find break-even point. D = 49 — 4p; S = 9p — 42; where D = total demand; S =
total supply and p = price.
i) If marginal revenue, MR = 30 and elasticity with respect to price is 3. Find the price.

where D=demand and P = price. Find the elasticity

SECTION-I
.. _ (5x%47)

7% p.a. interest compounded annually.

A loan of Rs. 60000 is to be repaid in 6 monthly, installments at the rate 12% p.a.

compounded monthly. Find the EMI.

A car was bought 3 years back at Rs.220000. Find its current price with 12%

depreciation per annum.

Mr. Khan borrowed Rs. 60000, partly at 9% p.a. and the remaining at 10% p.a. After 3
years, he returned the total amount, with a total simple interest of Rs. 16800. Find the

amounts he borrowed at each of these rates.

SECTION-II

X

14

6

12

10

8

y

12

9

10

8

6

Write a note on scatter diagram.

Calculate Spearman’s Rank Correlation Coefficient for the following data:

X

60

65

40

52

40

55

Y

60

80

80

70

65

75
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FYBCOM-II-ATKT-SEPT-2022-MATHS & STATS

D) Regression equations of a bivariate data are 3x - 2y = 6 & 8x - 3y = 44. Hence find mean
values of X & Y. Also find correlation coefficient.

E) For the following bivariate data
X y
Mean | 64 |42
SD 3.2 |45
And correlation coefficient, r = 0.68. Find the regression equation of x ony & also
estimate X when Y = 50.

Q.4 Attempt ANY FOUR of the following:
A) Calculate cost of living index number using Family Budget method for the following data:

Group Index Number | Weights
Food 300 45
Clothing 240 25
Fuel & Light 200 15
Rent 300 10
Miscellaneous 200 5

B) Calculate 3 yearly moving averages for the following data.

Year

2005

2006

2007

2008

2009

2010

2011

2012

Export

32

40

51

48

57

60

64

62

C) Calculate seasonal indices for the following data:
Sales (lakh)

I I m { v

2018 | 35 | 60 | 44 | 55

2019 | 42 | 72 | 58 | 63

2020 | 51 | 65 | 62 | 68

2021 | 50 | 80 | 60 | 71

D) Fit straight line trend using Least Square method. Hence estimate for the year 2021.

E)

Year

2015

2016

2017

2018

2019

Export

61

65

62

63

69

Calculate Laspeyer’s & Paasche’s index number for the following data.

Commaodity 2018 2021
Price | Quantity | Price | Quantity
A 5 10 8 12
B 2 12 5 15
C 4 8 7 10
D 3 5 9 7

Q5 Attempt ANY FOUR of the following:

A)

Five unbiased coins are tossed simultaneously. Hence find probability of getting (i) two

heads (ii) 1 or 3 heads.
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B)

C)

D)

E)

FYBCOM-II-ATKT-SEPT-2022-MATHS & STATS

A random variable, X follows Posisson distribution with parameter=2. Hence find
probability of (i) x =2 (i) x<1
(Given : €2 =0.1353)

A random variable, X follows Normal distribution with mean = 20 & standard deviation =
5. Hence find probability of (i) x <30 (ii) 15 < x < 20.

(Area under standard normal distribution from z= 0 to z= 2 is 0.4772 and Area under
standard normal distribution from z= 0 to z= 1 is 0.3413)

Itis found that 1.5% of the products in a box of 200 units are defective. Hence find
probability that there are only 2 defectives in a box.

(Given : 15 = 0.2231 , e = 0.0498)

Draw standard normal curve & state any three properties of it.
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